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Name ______________________________

1.  WhirlCom Inc. and Splinter Inc. have both just announced that they intend to issue debt and use the proceeds to repurchase shares.  At the announcements, WhrilCom’s stock price increased but Splinter’s stock price fell.  Considering only tax issues, explain what could cause this difference in reactions by the stock market?

2.  AT Telecom Inc. has just announced that it intends to drastically decrease its capital spending budget for next year (compared to the past several years) so that it can increase its dividend payments.  At the announcement, AT’s stock price rose but the prices for AT’s outstanding bonds fell.  Explain what would lead to these differences in reactions by the firm’s stockholders and its bondholders.

Use the following information to answer questions 3 and 4 below:

Belt Telephone is considering building a new fiber-optic network.  The new network would involve an investment of $3 billion immediately and another $2 billion per month for the next 5 months.  Once the network is completed, it will begin to generate net cash flows.  The first net inflow of $150 million would occur 6 months from today.  After this initial cash flow, monthly cash flows would increase by 0.6% per month through 10 years from today (when the network is expected to be replaced by new technology).  If the network fails to attract customers as expected, then it can be sold for $7 billion to AOL Time Warmup Inc. anytime in the next 3 years.  The standard deviation of returns on Belt’s existing network is 32% and on the new fiber optic network is 44%.  The market risk premium is 8.2%.

The return on Treasury securities by maturity is (all are APRs with continuous compounding):  

Maturity
APR
1-month
5.3%

3-year
6.2%

10-year
6.3%

Since the risk of a fiber-optic network differs from Belt’s existing copper network, Belt has calculated asset betas for the following firms:

Firm
Asset Beta
Newton Fiber Optic Network
1.20

Gabriel Food Distributors
0.85

Isaac Fiber Optic Communications Corp.
1.30

Fig Fiber Optic Network Inc. 
1.15

Michael Food Mart Inc.
0.75

3.  Should the project be undertaken if the opportunity to sell the network if demand falls short of projections IS NOT included?

4.  Should the project be undertaken if the opportunity to sell the network if demand falls short of projections IS included?
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5.  You estimate that the performance of Smoke Signal Communication and DumberChrysis Motors (DCM) will depend on who wins the next presidential election as follows:


Return on:

Election Results
Probability
Smoke
DCM
Shrub Wins
.50
17%
22%

Bore Wins
.45
15%
24%

Naythere Wins
.05
-8%
-30%

a.  What is the expected return and standard deviation of returns on Smoke?

b.  What is the expected return and standard deviation of returns on DCM?

c.  What is the correlation between Smoke and DCM?

d.  Plot and label Smoke and DCM on a risk/return graph.

e.  On the same graph as d, sketch and label a reasonable feasible set achieved by combining Smoke and DCM.

f.  On the same graph as d and e, sketch and label a reasonable efficient set achieve by combining Smoke and DCM.

g.  Assume you invest 70% of you portfolio in T-bills which earn 5.4% and the rest in the optimal combination of Smoke and DCM.  Sketch and label this point on the same graph as d, e, and f.

6.  On what basis does Bennett Stewart claim EVA provides a superior measure of performance relative to accounting earnings?

